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H#Hinclude<stdio.h>

int main(void){

int a;
a=5;

printf("ZE #HaDIE(L%ITY , ¥n", a);
printf("Z#aD T KL X [E%pTT , ¥n", &a);

a=15;

printf("ZE #HaDIE(L%ITY , ¥n", a);

[EITHR]

ZHMaDIEILX5TY,

TH#HaD 7KL XIX0038FACATY ,
Z#aDEIF15TY,
a7 KL X [X0038FACATT,

(%)
TELADIERFEITRENLT A
I LDETRRICKYERYF
ER

printf("EHaDT L R[E%pTT - ¥n", &a); //TFL R IFRHLIELN!

return O;

}
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#include<stdio.h>

. o [EfTHR]

int main(void){ EHaDIEL5TT
EH#aDT KL A(L0022FES4TT
RAZpADIEIL, 0022FESATY ,

int a;

int *pA;

a=>5;

pA=8&a; /[/aDTEL RXZpAIZH&HK

printf("E#HaD{EIL%d T, ¥n", a);
printf("ZE#HaD 7KL XL %pTI ¥n", &a);
printf("7R A ZpADEIL . %pTT , ¥n", pA);

return O;

}
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#include<stdio.h>

[EITHR]

Z#HaDEILSTT,

TH#aD 7KL X(E0032FBICTT
*pADEIX5TT ,

int main(void){
int a;
int *pA,;

a=0>5;
PA = &a;

printf("Z #aDIE(T%d T, ¥n", a);
printf("ZE#HaD T KL X [E%p T, ¥n", &a);
printf("*pADIE(F%dTT ., ¥n", *pA);

return O;
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#include<stdio.h>

[RITHER]
injc main(void){ ZMaDIEIXSTT,

::E j;p 'Z{ RA 2 BApADIEIZ001FF784TY,
e PADIEIF5STY,
b = 10; EZHbDIEIF1I0TT,

RA 2 ZpADEIXO001FF77CIZEE
pA=R8a; /[/ZEHaDTKRLAEZHKA BXNFELT-,

PADIEIL10TY,
printf("E#MaDIEIL%I T , ¥n", a);

printf("7RA > ApADIEIL%p T, ¥n", pA);
printf("pADEIL%d T, ¥n", *pA);

pA = &b; //EHbDTRLRAERA
printf("ZE#bDEIX%dTT , ¥n", b);

printf("TRA U ApADE I %plZZEEINFELT=, ¥n", pA);
printf("pADEIL%d T ., ¥n", *pA);

return O;
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#include<stdio.h>

int main(void){ [§ﬁﬁ§]
%*ﬂ&ao)ﬁﬁlis—ej_o
o *pAIZ50Z R ALFELT=,
it ¥, EHaDfEIFS0TY,
int *pA;
a=>5;
pPA = &a;

printf("Z #aDIEIF%I T, ¥n", a);
*pA = 50;

printf("*pAlZ50Z X ALZELT =, ¥n");
printf("Z #aDIEIF%I T, ¥n", a);

return O;



#include<stdio.h> g | 5!;&&7'_34:/9 1 29 O)ﬂEO) 3L_ltj:ﬁ(swap)

/* swapBABIDEE*/ [;ﬁﬁ%]

void swap(int *px, int *py); %*ﬁlnumld)ﬁﬁ(i?@?—o
o ZH#num2DEIF10TT,
int main(void){ o % —_
int num = 5. ZHnumlénum22DEZRELE
int num2 = 10; -d—o
o ZHnuml1D{EIL10TY,
printf("ZEnum1DEIL%d TT , ¥n", num1l); ?éé?ﬂlnumZO)ﬂEliS'G"d'o

printf("Z Enum2DIEIE%d TT ., ¥n", num2);
printf("Z Hnum1énum2DEERHLET . ¥n", num2);

swap(&numl, &num2);

printf("ZE Hnum1DIEIL%d T, ¥n", numi);
printf("Z Enum2DIEIE%d TT ., ¥n", num2);

return O;

}

/* swap 1B D EE*/
void swap(int *px, int *py){

int tmp;

tmp = *px;
*px = *py;
*py = tmp;
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#include<stdio.h>

void sort(int *na, int *nb){
int tmp;
if(*na>*nb){
tmp=*na;
*na = *nb;
*nb = tmp;
}
}

int main(void){
intnl, n2;
printf("2 DD EEHZ A AL TT LY, ¥n");
printf("Z %1 :"); scanf("%d", &n1);
printf("EE$12:"); scanf("%d", &n2);

sort(&nl, &n2);

printf("2 DD EE/INSWEIZTERET , ¥n");
printf("%d, %d¥n", n1, n2);

return O;

\

i N Z (sort)

[E1T4HI11]
2DODNEHZEANLTTS
LY.

FE1:12

29
2DDEFAEINSWEIZH A
x99,

9, 12

[E1THI2]
2DNEHZANLTTS
LY.

1 :15

223

2D DEEINSWEIZH A
E3

15, 23
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#include<stdio.h>

void division(int a, int b,int *c, int *d){
*c =a/b;
*d =a%b;

}

int main(void){
int na, nb;
int g=0; //®(quotient)
int r=0; //&Y(remainder)
printf("2 DD EEE A HILTT LY, ¥n");
printf("EE$41 :"); scanf("%d", &na);
printf("E %72 :"); scanf("%d", &nb);
division(na, nb, &q, &r);

printf("%d/%d = %d FRY %d¥n", na, nb, g, r);

return O;

}

[3E17451]
2DDEHZEAALTTELY,
L1 355

2113

355/113 =3 &Y 16



#include<stdio.h>
int gcd(int n, int r){
int tmp;
while(r>0){
tmp=r;
r=n%r;
n=tmp;
}
return tmp;

}

void reduceFrac(int a, int b, int **k, int **I){
int c = gcd(a, b);
**k=a/c
** =b/c;

}

void addFrac(int s, int t, int u, int v, int *na, int *nb){
intp, q;
p=s*y;
q=tty;
reduceFrac(p, g, &na, &nb);
}

int main(void){

int n1, n2, n3, n4;

int num=0, den=0;

while(1){
printf("2E1ZEA AL TT S0, ¥n);
printf("43F:"); scanf("%d", &n1);
printf("53£F:"); scanf("%d", &n2);
printf("72802F A DL TTELY, ¥n");
printf("5F:"); scanf("%d", &n3);
printf("58:"); scanf("%d", &n4);

addFrac(nl, n2, n3, n4, &num, &den);

if(den!=1)

printf("%d/%d X %d/%d=%d/%d¥n¥n", n1, n2, n3, n4, num, den);

else

printf("%d/%d X %d/%d=%d¥n¥n", n1, n2, n3, n4, num);

}

return O;

}

I ERA54 BHOBTE

[R1741]

DEIEAALTTELY,
»F:3

&7
PE2EAHALTTFSLY,
nF:14

WA S )

3/7 X 14/5=6/5

PEIEAALTTELY,
nF:3

213
PE2EAALTTELY,
2F:26

o3

3/13 X 26/3=2

d\

T 1EADLTTELY,
F:2

o559
PE2EAHDLTTFELY,
nF:27

6

2/9%27/6=1

N d>
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